/Ivid Stationary Mount

User Guide

(ZVDA-MNT-ST10)

N

[T,
[y




Getting Startead

Tools

Hex 4 and 6 mm Torx 20, 25 and 30

= $__-dD

Tilt-Roll Pan-Tilt

The mount can be re-configured to be either in pan-tilt or tilt-roll. Before
you install the mount,
evaluate which configuration that best suits your application.

To re-configure the mount, loosen the four M4 screws at the host and
adapter plate, and re-attach them
in the new configuration with torque 1,5 Nm.



M6x16

Hex
4 mm

T-slot nut or similar
(not included)




M6x10

Mounting:

-

N [~

AN

J

Zivid Two
3 x M5x8
Torx 25

Zivid One+
4 x M6x10
Torx 30




5Nm O Jlex

Loosen the center bolt to adjust the angle of the Camera.
Tighten the center bolt with a torque of 5 Nm with a 6 mm hex key to fasten.




	Page 1
	Page 2
	Page 3
	Page 4
	Page 5

